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SAP C_HCMOD_02 Exam Description:
The "SAP Certified Application Associate - SAP HANA Cloud Modeling" certification exam verifies that the candidate possesses

the required knowledge in the SAP HANA Cloud QRC 4/2021 for the profile of an SAP HANA Cloud application consultant. This

certificate builds on the basic knowledge gained through related SAP HANA Cloud training and preferably refined by practical

experience within an SAP HANA Cloud project team, whereby the consultant applies acquired knowledge in this specialist area

practically in projects.

Furthermore, the " SAP Certified Application Associate - SAP HANA Cloud Modeling " certification exam verifies, that the

candidate has the knowledge of implementing calculation view graphical modeling and managing modeling content in SAP Business

Application Studio required by the profile of an SAP HANA Cloud application consultant. The certificate issued for passing this

exam will be valid for 5 years.

 

QUESTION 33
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You set the Null Handling property for an attribute but do not set a default value.What is displayed when null values are found in a

column of data type NVARCHAR?

*  <empty string>

*  &#8220;?&#8221;

*  &#8220;0&#8221;

*  &#8220;Null&#8221;

QUESTION 34

In a calculation view, what is the purpose of a variable?

*  To pass values between procedures and calculation views

*  To provide a dynamic value in a calculated column

*  To break up complex SQL into smaller steps

*  To filter an attribute at runtime based on a user input

QUESTION 35

Why would you partition a table in an SAP HANA Cloud database? Note: There are 2 correct answers to this question.

*  To improve response time when multiple users access the same table

*  To improve query performance when accessing large column tables

*  To improve data replication performance on large row tables

*  To overcome the 2 billion record limit

QUESTION 36

Which solutions form the SAP Business Technology Platform? Note: There are 2 correct answers to this question.

*  Analytics

*  Intelligent Suite

*  Experience Management

*  Application Development & Integration

QUESTION 37

You create a user-provided service to access tables in external schemas.In which file type do you assign the user-provided service to

your database module?

*  .hdiconfig

*  .mtar

*  .yaml

*  .namespace

QUESTION 38

A calculation view consumes the data sources shown in the graphic.
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You want to identify which companies sold products in January AND February. What is the optimal way to do this?

*  Use a union node.

*  Use an intersect node.

*  Use an aggregation node.

*  Use a minus node

QUESTION 39

What is a restricted measure?

*  A measure that can be consumed by a CUBE and not a DIMENSION.

*  A measure that is filtered by one or more attribute values.

*  A measure that can only be displayed by those with necessary privileges.

*  A measure that cannot be referenced by a calculated column.

QUESTION 40

What options do you have to handle orphan nodes in your hierarchy?Note: There are 2 correct answers to this question.

*  Define an expression to determine a parent.

*  Generate additional root nodes.

*  Assign them to a level below the root.

*  Assign them to a node at the root level.

QUESTION 41

What are some of the typical roles in an SAP HANA Cloud implementation?Note: There are 2 correct answers to this question.

*  Data architect

*  Modeler

*  Kubernetes expert

*  ABAP developer

QUESTION 42

Why would an SQL developer work with SQLScript?Note: There are 3 correct answers to this question.

*  To automate the generation of the code

*  To pass parameters from calculation views

*  To exploit additional data types

*  To include ABAP syntax in the code

*  To implement conditional logic

QUESTION 43

Which of the following data sources can you include in a graphical calculation view?Note: There are 2 correct answers to this

question.

*  Table function

*  Procedure

*  Scalar function

*  Row table
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QUESTION 44

A calculation view includes a rank node that uses the source data and settings shown in the graphic.

 

 

Your query requests all columns of the rank node.How many rows are in the output of your query?

*  9

*  2

*  5

*  6

QUESTION 45

A new version of SAP HANA Cloud, SAP HANA database is available from today.If you do not perform the upgrade manually,

how much time do you have before your database will be automatically upgraded to the next version?

*  7 months

*  3 months

*  2 weeks

*  1 year

QUESTION 46

Using the table in the diagram, you need to create a CUBE calculation view.

 

 

What is the simplest approach to create the output shown in the screenshot?

*  Implement a union node and map each country as a separate column.

*  Create a restricted column for each country.

*  Create a filter expression that uses an OR operator.

*  Create 3 calculated columns.
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QUESTION 47

What are the limitations of using a full outer join in a star join node?Note: There are 2 correct answers to this question.

*  It must appear in the last DIMENSION in the star join node.

*  It is restricted to one DIMENSION in a star join node.

*  It CANNOT be mixed in the same star join node with other join types.

*  Only one column can be included in the join condition.

QUESTION 48

Your calculation view consumes one data source, which includes the following columns: SALES_ORDER_ID, PRODUCT_ID,

QUANTITY and PRICE.In the output, you want to see summarized data by PRODUCT_ID and a calculated column,

PRODUCT_TOTAL, with the formula QUANTITY * PRICE.In which type of node do you define the calculation to display the

correct result?

*  Projection

*  Join

*  Union

*  Aggregation

QUESTION 49

You have imported calculation views from SAP HANA on-premise to SAP HANA Cloud.Why should you switch calculated

column expression language from column engine to SQL?

*  To benefit from additional SQL optimizations

*  Incorrect aggregations may be generated

*  Column engine language is not supported.

*  To define limits for query unfolding

QUESTION 50

Why might you use the Keep Flag property in an aggregation node?

*  To ensure that the aggregation behavior defined in the aggregation node for a measure CANNOT be overridden by a query

*  To exclude columns that are NOT requested by a query to avoid incorrect results

*  To include columns that are NOT requested by a query but are essential for the correct result

*  To retain the correct aggregation behavior in stacked views

QUESTION 51

You want to create a star schema using a calculation view. The measures are based on columns from two transaction tables.

DIMENSION calculation views provide the attributes.What is the correct approach?

*  Combine the transaction tables using a star join node in a calculation view of type CUBE with star join./Use a join node to join

the DIMENSIONS to the fact table.

*  Combine the transaction tables using an aggregation node in a calculation view of type CUBE with star join./Use a star join node

to join the DIMENSIONS to the fact table.

*  Combine the transaction tables using a join node in a calculation view of type CUBE with star join.Use a star join node to join the

DIMENSIONS to the fact table.

*  Combine the transaction tables using a star join node in a calculation view of type CUBE with star join.Use the same star join

node to connect the DIMENSIONS to the fact table.
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QUESTION 52

Which of the following techniques can you use to improve the performance of calculation views?Note: There are 2 correct answers

to this question.

*  Avoid aggregating data early in the data flow.

*  Partition large tables.

*  Limit the number of stacked calculation views.

*  Implement union pruning.

QUESTION 53

What is the SQL keyword used to process input parameters defined in a calculation view?

*  WHERE

*  PLACEHOLDER

*  HINT

*  SET

QUESTION 54

You have imported a new calculation view in a folder that contains an .hdinamespace file. This calculation view consumes one data

source, which is a table. When trying to deploy the calculation view, the deployment fails with a namespace-related issue.What

could be the reason?Note: There are 2 correct answers to this question.

*  The namespace used within the calculation view to reference the table is different from the actual namespace in the identifier of

this table.

*  The imported calculation view and its data source have different namespaces.

*  An .hdinamespace file is defined in the SRC folder that specifies a different namespace property than the one in the identifier of

the calculation view.

*  The .hdinamespace specifies &#8220;sub-folder&#8221;:&#8221;append&#8221;, so calculation views can only be created in

subfolders.

QUESTION 55

Why would you choose an HDI-shared service plan instead of a schema service plan?Note: There are 3 correct answers to this

question.

*  You want to use SAP Business Application Studio.

*  You want to use containers to isolate objects.

*  You want to develop calculation views.

*  You want to create database objects using source files.

*  You want to use synonyms to access external data.

QUESTION 56

Why would you create calculation views of data category DIMENSION with type TIME?

*  To provide additional time-related navigation possibilities

*  To add a temporal condition to a join to find matching records from two tables based on a date

*  To store historical versions of attributes

*  To provide the time intervals required by time-dependent parent-child hierarchies

QUESTION 57
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In your calculation view, you want to consume a custom data source defined using SQLScript.In which type of object do you write

your code?

*  Scalar function

*  Table function

*  Anonymous block

*  Procedure

	

	

SAP HANA Cloud Modeling Certification Exam Topics:
Topic AreasTopic Details, Courses, BooksWeightingSAP HANA Cloud modeling basicsUnderstanding SAP BTP and SAP HANA

Cloud concepts and technologies of the SAP HANA Cloud, SAP HANA database				HC100e OR Modeling Learning Room>

12%Secure data modelsDefining roles, analytic privileges and data privacy settings				HC300e OR Modeling Learning Room8% -

12%Optimize performance of modelsFollowing modeling best practices and using performance monitoring tools				HC300e OR

Modeling Learning Room> 12%Manage and administer modelsDeploying modeling content, administration of calculation views,

defining new projects, namespaces, cross-container access, and working with Git				HC300e OR Modeling Learning Room> 12%
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